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Algebra

Solving linear equations

5x - 2 = 18 Ackd 2 10 both sides
5x ZO
X = 4
Expanding and Simplifying

5(3x - 2) + 3(2x + )
=Bx-10 + Gx + 3
=2x -7

Factorising

Divide bBoth sides i.?y 5

Factorise 4a + 20
=4xa + 4x5
4(a + B)

of 4 and 20 is 4

Algebra — Keywords.

The h'ngﬂcg-l' common Factor

=  Substitution — replacing a letter with 3 murnber. {Letters next to sach other means to
miultiphy.}

Ez wWork cut 25+ 30 when =9 and h=4
Z2xD+3x4
18+12
30

# Expreszion — 2n slgebraic sentence without an equal sign. (You may need to simplify but not
solve.]

#  Simplify —to maks an expression have less terms.
EE,2a+b+3a+3b—a-2b=4da+b

EE, 5xrxZxp=10rp

®  Solve —towork out an answesr using slgebra, togetx =

® Term—one part of an expression separsted by a + or—

EE.Sp+ 350+ 2r — 4 3 different terms.

# Expand — multiply to get rid of brackets.

EE, Hx+2)=3x+6

EE Ix+#6=3(x+ 2
dx+8=4(x+Z)

* Indices an algebraic term that has 3 power Eg 3t°

* Esguence — an slgsbraic pattern going up by the sams amount =ach time. In y=ar B work out

the formula czlled the nth t=rm



Calculation — Key Words

Calculation

Multiples and Factors

Find the highest common factor of 30 and 45
The factors of 30 are
12, 3,5 6,10,and 30
The factors of 45 are
| 3,5, 9,B)and 45
The highest' number n both lists is 15

Find the lowest common muttiple of 18 and 30
The first few muttiples of 30 are

20, 60,60) 120, 0
The First Few rmeles of 18 are

18, 36, 54, 72, €0)

90 is the smalest number in both lists
90 is the lowest common mutple of 18 and 30

Fractions Decimals and Percentages

15 is the highes’r common factor of 30 and 45

. /':Lﬂ
a) 083 = 8374 a) 467 = 046 a) 557 = == 1
L) 003 = 3% b) 9% = 009 e
) 8% mo\y;
Examples
X3 .’zoxsuoo
a) — 7_ 3 = = 357
\_‘?}foo -
= Fractions
)13 = 527, 1 2 3 14 17
M oA

of the two dernominators? (2/)

Integer - 2 whole Number
Fraction — 2 part of a number has 2 numerator on the top and 2 denominator on the bottom
Equivalent Fraction — two fractions which have the szme value but are written differently-
Bzt
Percent — means out of 100, symbol %
Multiple — any number in your originzl times table
Factor - a number that goes into another number with no remainder
Highest Cammon Factor — the biggest number that goes into two numbers — HCF of 12 and
lEis4
Lowest Commaon Multiple — the first number that appears in the times table of 2 different
numbers - LCM of 3 and 5 is 15
Prime Number - 2 number with only 2 factors, itself and 1
Square number — the answer to 2 number multiplied by itzelf
1xl=1 2x2=4 3x3=9
Cube Number - the answer to 3 number multiplisd by itself twice
lxlxl=1 2x2x2=8 3FxIx3=27

Square Root - Oppaosite of sguare number. This is the answer to what number multiplied by

itself iz the square number - V16 = 4 3 4 so square root of 1605 4
Product means to multiphy
Sum means to 2dd Percentages

Ehare means to divide
Difference means to subtract

Evaluzte —work out the answer ‘ ‘ ‘ ‘ ‘ | ‘ ‘ ‘ | ‘

20% is the same 10% + 10% or one Fifth

20% of £120 = £12 + f12
= £24



Geometry

¥ +135°=180°
x°=180°-135°

=45
135°
XD

=115

Areas
/
Rectangle =/ xw
Parallelogram =b x h h
|
b
h
Triangle = 2b x h
b

Trapezium =%{a + b)h

1 +82°+163 = 360°

¢ X = 360° - 245°
82
163

P8 = 100
P+135= 1
=180 - 135
P=ig

Caleulate the area
4 cm

:3cm

8cm
Area =% x(B+ 4)x3

=18 em”

Geometry Key Words and Formula’s
* Ares - the space inside a 20 shape measured in units 2
* Perimeter - the distance around the autside of a shape [called circumferancs for circles
* Walume — the space inside a 30 shape
* Gurface Ares — the area of the Flat faces of 4 3D shape
* Angle - The space made when two lines mesat, measured in degrees
* Acute angle — less than 909, shtuse angle bigger than S0 smaller than 18070, Straight line angls
equal ta 1807, Reflex angle bigger than 1680 but smaller than 3600
* Anples in & straight line &dd ta 1807
* Anples in & trianghe add to 1807
* fnples around a point add ta 360°
* Parallel lines — these lines have the came gradient and they never mest
* pprpendicular linss — thags lines cross at 909
* Altermate angles — thess bwa angles are the same in parallel lines (£ angle|
* Corresponding angles — these bwo angles are the samae in parallal lines [F anglas]
* Co — Interior angles — these bwo angles add up ta 1807 (2 angles)
* Bcalame triangle — & triangle with three differant sides and thres different angles
* lspscedes triangles — & triangle that has the bwo sides the same length and the base angles the
SAMme
* Cquilateral triangle — & triangle that has three sides the came and three angles the same
* Polygon - A 20 shape that has anly straight sides {adges)
* Interior and Cxterior angles — The exteriar angles of any palygon always add to 3607 The interior

angles + axterior angles akwvays add to 1804



Statistics The MEDIAN is #he valie in the micde wher

the data list listed in order

AVERAGES Exarple |

The MODE is the vadlue that occurs most 2, 5: 4: 2 ,I

often

242)6 1402

Write the data in order

12245

There are more 2's in the data list than any MEDIAN = 2
other number so the MODE = 2

To calculate the mean

36,310, 8 456880
Step | - Add dl of the umbers' together If there are 2 numbers n the midde
3+4G+3+10+8=2%0 548 13

MEDIAN - — = — = (5
2 2

S@ 2 - Divide your total by the number of

values in your data list

MEAN =30 - 5
=0

Probability

A baﬂ contains 3 Yeliow, 2 red and 4 blue counters. Number of successes

A counter is selected at random
What is the probabilty of picking a red counter?
TOTAL NUMBER. OF COUNTERS 3+2+4 =9

Total number of outcomi®

Plred) =

LE =T B ]

Statistics Key Words

Range - the difference between the largest and the smallest number from a list of numbers
Mode - The number that appears the most often from a list of numbers

Median - the number in the middle of a list of ordered numbers

Mean — Add all the numbers up and then divide this total by the amount of numbers that were there

Averages — Mean, Median and Mode. Three averages to help determine common or a
representative number from a list of numbers

Pie Charts — A way of representing data in a circle. All pie charts add up to 3600.

a percentage. Not as a ratio
Venn Diagrams — Uses two circles often overlapping to show data
Scatter Diagram — A graph that shows the relationship between two variables

Correlation — Used to describe the relationship in scatter diagrams — positive both go up or down,
negative — one goes up as the other goes down, no correlation —there is no link between the two
variables

Line of best Fit — A straight line drawn through the scatter diagram with roughly half the data points
on either side of the line

Frequency Table — Data is put into groups in a table. Used to help find averages
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